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Trial 1 | Trial 2 | Trial 3 | Trial4 | Trials | Trial6 |
Std_Hor(mv) 2.539 1.499 1.441 1.424 1.500 1.455
Std_Ver(mv) 2.158 1.239 1.204 1.203 1.254 1.262
Std_Hor(arcmin) 0.508 0.300 0.288 0.285 0.300 0.291
Std_Ver(arcmin) 0.432 0.248 0.241 0.241 0.251 0.252
rms_Hor(mv) 3.971 1.956 1.848 1.641 1.633 1.493
rms_Ver(mv) 3.296 1.304 1.563 1.736 1.257 1.316
rms_Hor(arcmin) 0.794 0.391 0.370 0.328 0.327 0.299
rms_Ver(arcmin) 0.659 0.261 0.313 0.347 0.251 0.263
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Square Wave: 0.05V, 1Hz
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Square Wave: 0.1V, 1Hz
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Square Wave: 1V, 1Hz
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Square Wave: 5V, 1Hz
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Left DPI
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Tiall |  Tral2 |  Tral3 |  Tiala | Trals | Tiale |
Std_Hor(mv) 2.655 2.262 2.206 2.225 2.199 2.183
Std_Ver(mv) 2.826 2.662 2.585 2.659 2.599 2.685
Std_Hor(arcmin) 0.531 0.452 0.441 0.445 0.440 0.437
Std_Ver(arcmin) 0.565 0.532 0.517 0.532 0.520 0.537
rms_Hor(mv) 3.559 2.305 2.251 2.243 2.225 2.186
rms_Ver(my) 3.594 2.910 2.585 2.693 2.802 2.944
rms_Hor(arcmin) 0.712 0.461 0.450 0.449 0.445 0.437
rms_Ver(arcmin) 0.719 0.582 0.517 0.539 0.560 0.589
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Square Wave: 0.1V, 1Hz
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Square Wave: 1V, 1Hz
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Square Wave: 5V, 1Hz
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